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dr{jf/L ufpFkflnsfsf] cfly{s P]g, @)&^

 k|:tfjgfM dr{jf/L ufpFkflnsfsf] cfly{s jif{ @)&^÷)&& sf] 
cy{ ;DaGwL k|:tfjnfO{ sfof{Gjog ug{sf] lgldQ :yfgLo s/ tyf z'Ns 
;+sng ug]{, 5'6 lbg] tyf cfo ;+sngsf] k|zf;lgs Joj:yf ug{ jf~5gLo 
ePsf]n], g]kfnsf] ;+ljwfgsf] wf/f @@* sf] pkwf/f -@_ adf]lhd dr{jf/L 
;efn] of] P]g agfPsf] 5 . 
!= ;+lIfKt gfd / k|f/DeM -!_ o; P]gsf] gfd cfly{s P]g, @)&^ /x]sf] 

5 .
  -@_ of] P]g @)&^ ;fn >fj0f ! ut]b]lv dr{jf/L ufpFkflnsf 

If]qdf nfu" x'g]5 .
@= ;Dklt s/M dr{jf/L ufpFkflnsf If]qleq cg';"lr -!_ adf]lhd 

Plss[t ;DklQ s//3/hUuf/ e"ld s/ -dfnkf]t_ s/ nufOg] / 
c;"n pk/ ul/g]5 .

#= 3/ jxfn s/M dr{jf/L ufpFkflnsf If]qleq s'g} JolQm jf ;+:yfn] 
ejg, 3/, k;n, Uof/]h, uf]bfd, 6x/f, 5Kk/, hUuf jf kf]v/L k"/} 
cf+lzs tj/n] jxfndf lbPsf]df cg';"lr -@_ adf]lhd 3/ hUuf 
jxfn s/ nufOg] / c;"n ul/g]5 . 

dr{jf/L ufpFkflnsf
?kGb]xL, % g+= k|b]z g]kfn

:yfgLo /fhkq
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$= Joj;fo s/M dr{jf/L ufpFkflnsf If]qleq pBf]u, Jofkf/, Joj;fo 
jf ;]jfdf k"FhLut nufgL / cfly{s sf/f]jf/sf cfwf/df cg';"lr 
-3_ adf]lhd Joj;fo s/ nufOg] / c;"n pk/ ul/g]5 .

%= ;jf/L ;fwg s/M dr{jf/L ufpFkflnsf If]qleq btf{ ePsf ;jf/L 
;fwgdf cg';"lr -$_ adf]lhd ;jf/L ;fwg s/ nufOg] / c;'n 
pk/ ul/g]5 .t/, k|b]z sfg'g :jLs[t eO{ ;f] sfg'gdf cGoyf 
Joj:yf ePsf] cj:yfdf ;f]lx adf]lhd x'g]5 .

^= axfn la6f}/L z'NsM dr{jf/L ufpFkflnsf If]qleq cfkm'n] lgdf{0f, 
/]vb]v jf ;+rfng u/]sf cg';"lr -%_ df pNn]v eP cg';f/ xf6 
ahf/ jf k;ndf ;f]xL cg';"lrdf ePsf] Jo:yf cg';f/ axfn 
la6f}/L z'Ns nufOg] / c;"n pk/ ul/g]5 .

&= ;8s dd{t tyf k|ofj{/0f z'NsM  dr{jf/L ufpFkflnsfn] cfˆgf] 
If]qleq tf]lsPsf ;8sx?df rNg] ;jf/L ;fwgx? af6 ;8s 
dd{t tyf k|of{j/0f z'Ns lng ;Sg]5 .;8s dd{t tyf k|ofj{/0f 
z'Ns cg';"rL -^_  df pNn]lvt b/df x'g]5 . t/, k|b]z sfg'g 
:jLs[t eO{ ;f] sfg'gdf cGoyf Joj:yf ePsf] cj:yfdf ;f]lx 
adf]lhd x'g]5 .

*= gS;f kf; z'NsM dr{jf/L ufpFkflnsfn] cfˆgf] If]qleq cg';'lr 
-&_ adf]lhd gS;f kf; z'Ns nfufOg] / c;'n pk/ ul/g]5 .

(= l;kmf/; b:t'/M dr{jf/L ufpFkflnsfn] cfˆgf] If]qleq j:t' tyf 
;]jf k|bfg u/]jfkt cg';'lr -*_ adf]lhd l;kmfl/; b:t'/ nfufpg] 
5 .

!)= hl/jfgf tyf 5'6M dr{jf/L ufpFkflnsfn] cfˆgf] If]qleq cg';'lr 
-(_ adf]lhd hl/jfgf nufpg tyf 5'6 lbg ;Sg]5  .

!!= s/ 5'6M o; P]g adf]lhd s/ ltg]{ bfloTj ePsf JolQm jf 
;+:yfx?nfO{ s'g} klg lsl;dsf] s/ 5'6 lbO{g] 5}g . 

t/, bkmf !! df h'g;'s} s'/f n]lvPsf] ePtfklg Psd'i7 clu|d s/ 
a'emfpg]nfO{ 5'6 lbg afwf kg]{ 5}g .

!@= o; dr{jf/L ufpFkflnsfsf] cfufdL cf=j=)&^÷)&& sf] nflu 
?=#%,)),)))/- k}lt; nfv dfq /fh:j p7fpg] nIo to ul/of] .

!#= s/ tyf z'Ns ;+sng  tkl;n cg';f/ x'g] 5 .
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cg';"rL–!
bkmf @ ;+u ;DalGwt

3/w'/Ls/÷dfnkf]t -e"dL_ s/ jflif{s
cf=a= 2076/077 

s|=;+
= 

laj/0f  
cf=j= 

@)&%÷)&^
sf] b//]6 

cf=j= 
@)&^÷)&&sf] 
nflu b//]6 

s}lkmot 

  ss_ 3/s/ M–  

  !=km";sf] 5fgf        
  @=l6g,vk6f,6fon,5fg  20 20 

  
#=  kSsL 3/  

  s_ Ps tn] 50 50 

    v_ b'O{ tn] / ;f] eGbf dfly 100 100 

  
$=gofF 3/ sfod 
ubf{ M– 

-3/gSzf kf; ePsf 3/nfO{ 
3/ sfod ug'{ gkg]{_ 

1000 
 

1000 
   

    s_ Ps tn] 1000 1000 

      v_ b'O{ tn] / ;f] eGbf dfly 1500 1500 

  
%= gS;f k|dfl0ft k|lt sf]7f M–-gS;f kf; nfu' gx'bf 
;Dd k|dfl0ftsf]_ 1500   

  
s_ kSsL 3/  

d'Vo /fhdfu{;Fu hf]l8Psf] 200 200 

  leqL sfnf] kq] ;Fu hf]l8Psf] 100 100 

  sRrL u|fe]n ;Fu hf]l8Psf] 50 50 

  v_ l6g, 6fon, vk6f, km";sf] 5fgf ePsf] 3/ 50 50 

^_ 3/w'/L gfd;f/L b:t'/   

  s_ kSsL 3/  500 500 

  v_ l6g, 6fon, vk6f, km";sf] 5fgf ePsf] 3/ 250 250 

  7)     5 5 

 3/ hUuf axfn s/ 

ufp“kflnsf If]qleq 3/3lgn] 3/ ef8fdf nufp+bf k|lt dlxgf sf]7f ef8f cfDbfgLsf] @ k|ltztsf b/n] 
ufp“kflnsfnfO{ 3/axfn s/ jfkt a'emfpg' kg]{5 . o;/L 3/axfn s/ lx;fa ubf{ tkl;ndf pNn]lvt 
Go'gtd b/n] k|lt dlxgf k|lt sf]7fsf] d'Nof+sg ul/g]5 . 

k|lt sf]7fsf] Go'gtd d'Nofªsg 

xfnsf] 
jf8{ 
g+= 

sf]7f 
laj/0f 

d'Vo 
ahf/ If]q 

cGo If]q 
;8s ahf/ 

If]q 
;8sdf kg{] 
cGo If]q 

leqL u|fe]n 
ahf/ If]q 

leqL u|fe]n 
cGo If]q 

s}lkmot 

 1-
 

 ;6/ 
sf]7f  

axfnsf]  

  2 % 
axfnsf]  

  1.5 % 
axfnsf]  

  1.5 % 
axfnsf]  

  1.0 % 
axfnsf]  

  !=%% 
axfnsf]  

  1 % 
 

 1-
 

 cGo 
sf]7f  

axfnsf]  

  2 % 
axfnsf]  

  1.5 % 
axfnsf]  

  1.5 % 
axfnsf]  

  1.0 % 
axfnsf]  

  !=%% 
axfnsf]  

  1 % 
  

cg';"rL–@
bkmf # ;+u ;DalGwt

3/ hUuf afxn s/

!) !)
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cg';"rL–#
bkmf $ ;+u ;DalGwt

Joj;fo s/

qm=; ljj/0f )&%/)&^ )&^/)&&  s}lkmot

1        500         500    
2        100         100    

          
  lgDg lsl;dsf pBf]u, Aofkf/ Aoj;fodf lgDg adf]lhd jflif{s s/ lnO{g]5 .  

 dlb/f k;n     
  s_ ljt/s    5,000     5,000  

v_ yf]s ljt/s    3,000       3,000  
u_ v'b|f ljqm]tf    2,000       2,000  

 ;"lt{hGo     

  s_ ljt/s    3,000       3,000  
v_ yf]s ljt/s    2,000       2,000  
u_ v'b|f ljqm]tf    1,000       1,000  

 xNsf k]okbf{y     
  s_ yf]s ljt/s   1,000      1,000  

v_ v'b|f ljqm]tf      500       500  

 ;'grfFbL k;n      
  s= km]G;L uxgf agfO{ ljqmL ;f] ?d -s_ >]0fL    3,000       3,000  

v= km]G;L uxgf agfO{ ljqmL ;f] ?d -v_ >]0fL    2,000       2,000  
u= ;fwf/0f uxgf ljqmL k;n    1,000       1,000  

 cf}ifwL k;n     
  s_ pTkfbs    5,000     5,000  

v_ ljt/s yf]s    3,000       3,000  
u_ v'b|f k;n 8fS6/ ePsf]     3,000       3,000  
3_ v'b|f k;n 8fS6/ gePsf]    1,000       1,000  

 cfo'{j{]lbs cf}ifwL     
  s_ pTkfbs    4,000     4,000  

v_ ljt/s    2,000       2,000  
u_ v'b|f    1,000       1,000  

 Pu|f]e]6 k;n     
  s= yf]s -s[lif hGo ljp ljhg, cf}ifwL tyf cGo 

;fdfu|L_ 
  1,000       1,000  
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v= v'b|f -s[lif hGo ljp ljhg dfq_      7,00       7,00  
10 :6]zg/L k;n     

  s= yf]s     1,700       1,700  
v= v'b|f       500       500  
u= d'b|0f ;fdfu|L       300       300  

11 s:d]l6s k;n     
  s= yf]s     500      500  

v= v'b|f      300         300  
u= df]6/ kf6{; tyf af]l8 ljN8;{ ;fdfu|L      200       200  

12 n'la|s]zg ;]S;g tkm{     
  s= yf]s 1000 1000 

v= v'b|f 500 500 
13 knfO tyf Unf; xfp; 
  s= yf]s 500 500 

v= v'b|f 500 500 
14 Jofu xfp; 
  s= yf]s 500 500 

v= v'b|f 500 500 
15 wfuf], 6fs, r'8L, >Lªuf/ k'hf ;fdfu|L k;n 
  s= yf]s 500 500 

v= v'b|f 300 300 
16 O{n]S6f]lgs÷sDKo'6/ k;n 
  s= yf]s 1000 1000 

v= v'b|f 500 500 
u= 38L /]l8of] df]afO{n cfbL 500 500 
3= cl8of] le8Lof]  500 500 

17 ljB't ;fdflu| k;n 
  s= yf]s 500 500 

v= v'b|f 300 300 
18 xf8{jo/, d]lzg/L, k]G6;, ;]g]6/L, dfj{n k;n 
  s= yf]s 2000 2000 

v= v'b|f 58, l;d]G6 xf8{j]o/ 1000 1000 
u_ xf8{jo/, d]lzg/L, k]G6;, ;]g]6/L, dfj{n k;n 1000 1000 
3_ k]G6; 1000 1000 
ª_ ;]g]6/L, dfj{n k;n 1000 1000 
v= cGo v'b|f 1000 1000 
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19 k]6«f]lnod kbfy{ 
  s= # kDk jf dfyL 3000 3000 

v= @ kDk -l8n/ ;d]t_ 2000 2000 
u= ! kDk 1000 1000 
3= k]6«f]lnod kbfy{ ;j\ l8n/ 500 500 
ª= k]6«f]lnod kbfy{ l8n/ gePsf]  -km'6s/_ 300 300 
r= d6\6Lt]n dfq ljqmL 300 300 
5= Uof; l;ln08/ l8n/ 500 500 

20 l:6n cfNd'lgod k;n     
  s= yf]s 1000 1000 

v= v'b|f 800 800 
21 kmlg{r;{, kmlg{l;+u k;n 
  s= yf]s  1500 1500 

v= v'b|f  1000 1000 
22 ;jf/L ;fwg Ph]G;L tyf ljqmL k;n 
  s= a;, 6«s, 6\ofS6/, lhk, sf/, Eofg l8n/  5000 5000 

v= df]6/;fO{sn l8n/  2500 2500 
u= df]6/;fOsn tyf cGo ;jf/L ;fwgsf] l8n/ 
:jb]zL  

1000 1000 

3= ;fOsn l8n/ 1000 1000 
ª= l/–slG8;g xfp; 1000 1000 
r= 6fo/ l8n/ 2000 2000 
5= kDk ;]6 h]g]6/ l8n/ 2000 2000 
h= ljljw ljifosf ;fdfg ;Knfo;{ tyf Ph]G;Lx? 2000 2000 

23 b}lgs pkef]Uo j:t'  
  s= vfB ;Knfo;{ 1000 1000 

v= uNnf yf]s 1000 1000 
u= vfBGg ls/fgf yf]s 1000 1000 
3= vfBGg ls/fgf v'b|f 500 500 
ª= ;fgf ls/fgf k;n 500 500 
r= cfn' Kofh n;'g yf]s 500 500 

24 kmnkm'n k;n   
  s= yf]s 500 500 

v= v'b|f 300 300 
25 xl/of] t/sf/L k;n 
  s= yf]s 500 500 

v= v'b|f 300 300 
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26 sk8f k;n 
  s= yf]s 500 500 

v= v'b|f 300 300 
u= km]G;L k;n 200 200 

27 ljz]if1 k/fd;{ tyf cGo Joj;flos ;]jf     
  s= lrlsT;s     2,000       2,000  

v= sG;N6]G6 8S6/ -Pd=8L=, Pd lj= lj= P;_    1,500       1,500  
u= d]l8sn clkm;/    1,000       1,000  
3= slj/fh      500         500  
ª= sG;N6]G; ;]jf     
r= OlGhlgol/ª kmd{ k/fdz{ ;]jf    2,000       2,000  
5= sfg'g Joj;foL      1,000       1,000  
h= n kmd{ tyf sfg'g k/fdz{ ;]jf    1,000       1,000  
em= n]vf k/LIf0f Joj;fo tkm{    1,000       1,000  
`= cGo    1,000       1,000  

28 cg';Gwfgstf{ k/fdz{bftf      
  s= cg';Gwfgstf{    1,000       1,000  

v= sDKo"6/ Pgfln:6 tyf k|f]u|fd/     800      800  
u= ljdf Ph]G6    1,500       1,500  
3= ;e{]o/    1,500       1,500  
ª= gf]6/L kAnLs cg'jfb    1,000       1,000  
r= kz' lrlsT;s      500         500  
ª= z]o/ bnfn      500         500  
r= 9'jfgL tyf 6«fG;kf]6{    1,000       1,000  
5= ;:yfut k]G6;{    1,000       1,000  

29 lgdf{0f Joj;fo     
  s= uf= kf= df k|wfg sfof{no ePsf lgdf{0f 

Joj;foL 
    

s ju{  10,000     10,000  
v ju{    8,000     8,000  
u ju{    7,000       7,000  
3 ju{    5,000     5,000  

v= ljb]zL lgdf{0f Joj;foL tyf k/fdz{ bftf    5,000     5,000  
30 ejg lgdf{0f     
  s= ld:r/ / ;6l/ª ;fdfg ePsf]    1000       1000  

v= ;6l/ª ;fdfg ePsf] dfq      500       500  
u= ejg lgdf{0f Joj;foL      500       500  

31 8]/L Joj;fo tkm{     
  s= 8]/L pBf]u tyf ljqmL k;n      500       500  

v= 8]/L ljqmL k;n      500         500  
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32 pkef]Uo j:t' pTkfbg laqm]tf     
  s= s'lsh, kfp/f]6L, g'8N; pBf]u      500       500  

v= sGkm]S;g/L pBf]u      500       500  
u= bfndf]7 pBf]u      500       500  

33 l/sG8L;g pBf]u     
  s= kmnfd s[ifL cf}hf/ pBf]u    2,000       2,000  

v= sfuh Knfl:6s l/sG8L;g pBf]u    1,000       1,000  
u= phf{ d'ns pBf]u    1,500       1,500  
u= jfof] UofF; pBf]u    1,000       1,000  
3= ;f}o{ zlQm pTkfbg pBf]u    1,000       1,000  
ª= dd{t ;+ef/ kf6{ pBf]u    1,000       1,000  

34  pBf]u     
  s_ O6f, l;d]G6 / s|];/ pBf]u  25,000     25,000  

v_  l:6n / cGo    3000     3000  
u_demf}nf pBf]u 15,000 15,000 
3_;fgf pBf]u 3000 3000 

35 ko{6g, Joj;fo tyf pBf]u     
  s= xf]6n, nh tyf /]:6'/]G6 -pRr sf]6L_    4,000     4,000  

v= xf]6n tyf nh    2,000       2,000  
u= xf]6n tyf /]:6'/]G6    2,000       2,000  
3= bf]x/L ;fem    2,000       2,000  
ª=  kf6L{ Kofn];    5,000     5,000  
r= /]:6'/]G6    2,000       2,000  
5= ef]hgfno    1,000       1,000  
h= ld:6fGg Sof6l/ª k;n ;d]t    1,000       1,000  
em= ld:6fGg k;n      800         800  
`= Sof6l/ª      800         800  
6= lrof skmL k;n      500         500  
7=  kmf:6 km'8 P08 Sofkm]      500         500  

36 6]G6 xfp;     
  s= ljh'nL 8]sf]/]zg j]G8 jfhf ;lxtsf] 6]G6 xfp;    2,000       2,000  

v= ljB't 8]sf]/]zg ;lxtsf] 6]G6 xfp;    1,500       1,500  
u= ljB't 8]sf]/]zg /lxtsf] 6]G6 xfp;    1,000       1,000  
3= 6]G6 xfp; dfq    1,000       1,000  

37 ;]jf pBf]u     
  s= ckm;]6 k|];    1,000       1,000  

v= :qmLg lk|G6 k|];      800       800  
u= n]h/ lk|G6 k]|;      500         500  
3= l;g]df xn      500       500  
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ª= lkmNd l8:6LJo"6;{      500         500  
r= sn/ Nofa ;]jf    1,000       1,000  
5= lel8of] ldlS;ª      500         500  
h= kmf]6f] :6'l8of]      500         500  

38 ;+rf/     
  s= 6]lnkmf]g, 6+sn, ˆofS;, df]jfOn ;]jf k|bfos 

sDkgL 
   2,000       2,000  

v= l6=eL= Rofgn k|;f/0f    2,000       2,000  
u= s]jn Rofgn k|;f/0f    1,500       1,500  
3= Pkm=Pd k|;f/0f    1,000       1,000  
ª= kqklqsf k|sf;g ;]jf    1,000       1,000  

39 sDo"lgs]zg ;]jf     
  s= 6';{ P08 6«feN; ;]jf      500       500  

v= kmf]6f]skL, lk=l;=cf]=, ;fOa/ tyf Sofkm]      500       500  
v= s'l/o;{ ;]jf d'Vo sfof{no    1,000       1,000  
u= s'l/o;{ ;]jf zfvf sfof{no      500         500  

40 ljlQo ;]jf -g]kfn ;/sf/sf] k"0f{ :jfldTjdf /x]sf 
a}+sx? afx]s_ 

    

  s= jfl0fHo a}+s lghL :t/ d'Vo sfof{no   25,000     25,000  
v= jfl0fHo a}+s k|lt zfvf sfof{no    10,000     10,000  
u= ljsf; j}s d'Vo sfof{no  20,000     20,000  
3= ljsf; a}+s k|lt zfvf sfof{no    8,000    8,000  
ª= kmfOgfG; sDkgL d'Vo sfof{no  10,000     10,000  
r= kmfOgfG; sDkgL k|lt zfvf sfof{no    5,000      5,000  
5= n3' ljQ sDkgL    5,000      5,000  
h= ljdf sDkgLx?    5,000      5,000  
em= dgL PS;r]Gh/     1500       1500  
`= ljlQo ;xsf/L ;+:yf    1,000       1,000  
6= yk sfpG6/    1,000       1,000  

41 :jf:Yo ;]jf Joj;fo     
  s= u}/ ;/sf/L c:ktfn tyf gl;{ª xf]d    2,000       2,000  

v= Pd cf/ cfO{, l;l6 :Sofg, cN6«f;fp08 lSnlgs 
/ kf]ln lSnlgs 

   2,000       2,000  

u= Kofyfnf]lh    1,000       1,000  
3= cSo"k+r/      500       500  
ª  PS;/]    1,000       1,000  
r= rZdf k;n    1,000       1,000  
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42 lzIff ;]jf     
  s= lghL SofDk; tyf pRr df= lj=     2,000       2,000  

v= lghL df= lj=    1,500       1,500  
u= lghL cfwf/e"t    1,000       1,000  
3= lghL k|f=lj=, k'j{ k|f=lj=, 5fqfjf;, dG6]Zj/L      500         500  
ª= kf]ln 6]SgLsn OlG6Ro"6 k|lzIf0f ;d]t    1,000       1,000  
r= gl;{ª, l;= Pd= P=, Pr= P= k|lzIf0f ;d]t    1,500       1,500  
5= Ph's]:gn sG;N6]G;L ;]jf    1,500       1,500  
h= sDKo"6/ On]S6«f]lgs tflnd    1,000       1,000  
em= ;jf/L rfns tflnd    1,000       1,000  
`= efiff, lzIff, sf]lrª ;]G6/    1,000       1,000  

43 cGt/fli6«o u}/ ;/sf/L ;+:yf     
  s= cGt/fli6«o ;+:yf Joj;flos sf/f]jf/ ug]{    3,000       3,000  

v= /fli6«o ;+:yf    1,500       1,500  
44 dd{t ;+ef/ -sf/vfgf_     
  s= gofF jf]l8 agfpg] s >]0fL    3,000       3,000  

v= jf]l8 dd{t ug]{ v >]0fL    2,500       2,500  
3= 6fo/ l8n/ ;f] ?d    2,000       2,000  
ª= 6fo/ l/;f]lnª    2,000       2,000  
r= 6fo/ kGr/ dd{t       300        300  
5= OlGhg dd{t      500       500  
h= 8]G6Lª, k]G6Lª tyf j]lN8ª      500       500  
em= 8]G6Lª dfq      300         300  
`= k]lG6ª dfq      300         300  
6= kDk ;]S;g dd{t      500       500  
7= Jofl6« On]S6«Ls ;]S;g dd{t      500       500  
8= jfl;ª ;]S;g      500         500  
9= l/S;f ;fO{sn ljqmL      500       500  
0f= l/S;f, ;fOsn dd{t tyf ljqmL ;xLt      500       500  
t= l/S;f ;fOsn dd{t       300        300  
y= l6= le=, 8]u, df]afOn, lkm|h dd{t, sDKo"6/ dd{t      300       300  
b= /]l8of], 3l8, SofNs'n]6/ dd{t      500         500  
w= df]6/;fOsn dd{t     500      500  
g= sDkgL k§f, /]l8o6/, lu|;, x]8 dd{t      500         500  
k= h]g]/]6/, lkm|h, sDKo"6/ dd{t      500         500  

45 x]eL OSo"kd]G6     
  s= x]eL OSo"kd]G6 vl/b ljqmL    5,000     5,000  

v= cGo sjf8 vl/b ljqmL    1,500       1,500  



11

46 cGo ;]jf     
  s= j}b]lzs /f]huf/ ;]jf k/fd;{ bftf    3,000       3,000  

v= j}b]lzs /f]huf/ k/fd;{ ;]jf zfvf sfof{no    1500      1500  
u= ;]jf k/fd;{ bftf      800       800  
3= >lds ;]jf k/fdz{ bftf     750      750  
ª= ;fdfg ;lxt >lds ;]jf k/fdz{ bftf    1,000       1,000  
r= ;]S/]6l/on ;]jf dfq      500       500  

47 8«fO lslNgs, ;}n'g tyf Jo"l6kfn{/     
  s= Jo"l6 kfn{/ ;]jf, tflnd ;lxtsf] -% hgf eGbf 

j9L sfl/u9_ 
   1,000       1,000  

v= Jo"l6 kfn{/ ;]jf      500         500  
u= sflnu9 ;lxtsf] ;}n'g ;]jf -@ l;6 dfyL_    1,000       1,000  
3= ;}n'g ;]jf @ l;6 ;Ddsf]      100         100  
ª= 8«fOlSnlgs ;]jf       500         500  

48 ;fO{g jf]8{ cf6{ Joj;fo     
  s= l8lh6n cf6{ Joj;fo      500       500  

v= cGo cf6{ Joj;fo      500       500  
49 kz' jwzfnf     
  s= kz' jw\zfnf       500       500  

v= kz'sf] 5fnf ;+sng tyf ljqmL      500         500  
50 df5f df;' ljqmL k;n      
  s= Koflsª df5f df;' ;Knfo;{      500       500  

v= df5f df;' dWo] sDtLdf # j6f ;]jf lbg] k;n      500       500  
u= df5f df;' dWo] sDtLdf @ j6f ;]jf lbg] k;n      500       500  
3= s'g} Ps ;]jf dfq      500         500  
ª= c08f ljqmL k;n      300         300  

51 km'n lj?jf k;n     
  s= g;{/L      500       500  

v= km'n ljqmL       300        300  
52 :g's/ tyf k'n xfp;     
  s= :g's/ tyf k'n xfp; b'j} ePsf]    1,000       1,000  

v= :g's/ dfq      500         500  
u= k'n xfp;      500         500  

53 ef8f k;n tyf lsrg ;fdfu|L     
  s= yf]s k;n       500       500  

v= v'b|f       500       500  
u= ;fdfGo ef8f k;n       300       300  

}
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54 v]nf}gf, lukm\6 xfp; tyf kmf]6f] km|]d k;n -zf]?d_     
  s= v]nf}gf tyf lukm\6 k;n       500       500  

v= v]nf}gf dfq      300         300  
u= kmf]6f] km|]d        300         300  

55 l;nfO{ d]lzg dd{t tyf l;nfO{ k;n     
  s= l;nfO{ :k]:ln:6 k;n     1,000       1,000  

s= l;nfO{ k;n       500       500  
v= l;nfO{ d]lzg dd{t      500         500  
u= Jo"l6s Nofa|f]6/L       500         500  
;+lut snf s]Gb|       500         500  

56 3'lDt xf6ahf/df Joj;fo ug]{ Joj;foLsf] xsdf 
b}lgs 

    

  s= km]G;L tyf sk8f k;n       500       500  
v= ls/fgf lj;ftf tyf ef8f k;n      500      500  
u= cGo k|s[ltsf       500         500  

57 dfyL pNn]v gePsf] cGo k]zf Joj;fo     

  s= l8:6LAo'6;{ yf]s k;n     2,000       2,000  
v= v'b|f k;n     1,000       1,000  

  

;8s dd{t tyf kof{j/l0fo z'Ns M– 

cg';"rL–$
bkmf % ;+u ;DalGwt

;jf/L ;fwg jflif{s s/

s_ df]6/;fO{sn, :s'6s  100  100

v_ lglh- 6]S6/, df?lt, lhk  200  200 

u_ j;, 6«s, sDkfO{g, x]jL uf8L  1,000  1,000 
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cg';"rL–%
bkmf ^ ;+u ;DalGwt

jfxfn la/f}l6 z'Ns

cg';"rL–^
bkmf & ;+u ;DalGwt

;8s dd{t tyf kof{j/l0fo z'Ns M–

qm=; ljj/0f )&%÷)&^ )&^÷)&& s}lkmot

1 df;'k;n  70 70  

2 df5fk;n 70 70  

3 dlb/fk;n 50 50  

4 ef8fk;n  35 35  

5 sk8f k;n 35 35  

6 xl/of] t/sf/L k;n 25 25  

7 ls/fgf k;n 35 35  

8 cGo k;n 25 25  

1 lhk, sf/, Eofg  –   0

2 a;, ldgL a;   0

3 ^ rSs  6«ofS6/ 
k|lt l6«k 

60 60

4 * rSs]   6«ofS6/ – 
k|lt l6«k 

 90 90

5 ldgL 6«s ÷l6Kk/ 
k|lt l6«k

 100 100

6 ^ rSs] / ;f] eGbf a9L 
rSs]  6«s k|lt l6«k

 125 125

s|=
;+=

laj/0f cf=j= 
@)&%÷)&^ 
sf] nflu k6s] 
b/ /]6x?

cf=j= 
@)&^÷)&& 
sf] nflu b/ 
/]6x?



14

7 9Ú+uf lgsf;L /f]
oN6L  –

k|lt 
l6Kk/÷6«s

  

8 ld:s6 lgsf;L /f]
oN6L  –

k|lt 6«ofS6/ 
6«fnL 

  

9 ld:s6 lgsf;L /f]
oN6L  –

k|lt 
l6Kk/÷6«s

  

 gf]6M s[lif k|of]hgsf] nflu u}/ Joj;foLs ?kdf v]tdf dn ljp 
n}hfg] tyf wfg k/fn cf];fg]{ ;jf/L ;fwgdf k6s] s/ nfUb}g t/ Jofkf/Ls 
k|of]hgsf] nflu k|of]u u/]sf]df b:t'/ nfUg] 5 .clu|d Psd'i6 /sd e'QmfgL 
u/]df !) k|lt;t 5'6 x'g] 5 .

cg';"rL–&
bkmf * ;+u ;DalGwt

gSzf kf; b:t'/ nfu' ePkl5 M

. 
. 

laj/0f 

dfu{{ leqL sfnf]kq] leqL u|fe]n÷sRrL 

s}lkmot
hldgd'gL 
/ e"+O{ 
tnf -k|lt 
a=lkm ?=_ 

klxnf] 
tnf jf 
;f]eGbf 
dfly   
-k|lt 

a=lkm ?=_

hldgd'gL 
/ e"+O{ 

tnf -k|lt 
a=lkm ?=_

klxnf] tnf 
jf ;f] eGbf 

dfly   
-k|lt a=lkm 

?=_ 

hldgd'gL 
/ e"+O{ 

tnf -k|lt 
a=lkm ?=_ 

klxnf] tnf 
jf ;f]eGbf 
dfly  -k|lt 
a=lkm ?=_ 

1 kSsL 3/sf] 
gSzf kf; b:t'/ 

       
3  

      
4  

      
2  

         3         
2  

       
3  

 

2 k'/fgf] 3/ 
clen]v /fVg] 

       
1  

      
1  

      
1  

         1         
1  

       
1  

 

3/ gSzf kf; b/vf:t kmf/fd b:t'/ ?=                                                    500 

c:yfoL 3/sf] hfgsf/L lbO{ agfpg' kg{] Psd'i6 ? %)).-  

 
  

l;kmfl/; b:t'

rf/lsNnf l;kmfl/; a}+s k|of]hg

/lhi6«];g k|of]hg 

 k'g:rM ufpkflnsfsf a8f sfof{no tyf ;fd'bflos ljBfno 
/ ufpkflnsfn] agfpg] ejgdf gS;f kf; b:t'/ gnfUg] cGo ;/sf/L 
lgsfox?sf ;/sf/L  ejg lgdf{0fdf  b:t'/df %_ k|ltzt nfUg] =
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l;kmfl/; b:t'

s|=;+= laj/0f 
cf=j= 

@)&%÷@)&^ 
sf] b//]6x? 

cf=j= @)&^÷)&& sf] 
nflu b//]6x? 

s}lkmot

1 rf/lsNnf l;kmfl/; a}+s k|of]hg       
     s_ kSsL ;8s 500         500    
     v_ v]tL of]Uo            200                200    
     u_ pBf]usf] hUuf k|lt s7\7f           150                 150    
     3_ sRrL ;8s           300                 300    
2 /lhi6«];g k|of]hg       
     s_ kSsL ;8s         500            500    
     v_ v]tL of]Uo            200                 220    
     u_ pBf]usf] hUuf k|lt s7\7f          150                 165    
     3_ sRrL ;8s          200                200    

cg';"rL–*
bkmf ( ;+u ;DalGwt

l;kmfl/; b:t'/ M

3 cc+zj08fsf nfuL rf/lsNnf l;kmfl/;       
     s_ kSsL ;8s           300           300    

  
   v_ v]tL of]Uo   

200  
              200  

  

  
   u_ sRrL ;8s  

250  
             250  

  
4         

  )            100                 125    
  )                50                  50    
  )            300                 300    
  )              300                300    
5           200                200    
6             200                200    
7       
  )              700                700    
  )             500                500    
8             200                200    

 

@))

!%)

!))

c+zj08fsf nfuL rf/lsNnf l;kmfl/; 

 

            
9 )       5,000  3000   
  )       15,000         17,000    
  )      30,000  25000    
               25,000    
              20,000    

%,)))

!%,)))

#),)))
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c+zj08fsf nfuL rf/lsNnf l;kmfl/; 

 

 

             100            100    

 
       
            100    

 
        

        500            500    
       3 3   

14 
       
          200            200    

15                50              60    
16  jflif{s   500   

  

    

hl/jfgf tyf 5'6 M– 

laj/0f

!= hl/jfgf    

k'gZrM

 @= 5'6 

 
  

hl/jfgf tyf 5''6 M– 

  

laj/0f 

. . 2074/075 

  
/  

 

s}lkmot 

!= hl/jfgf    
  

  

  
s_ aflif{s s/, b:t'/ tyf z'Ns a'emfpg lanDa 

ePdf
klxnf] aif{ 
lanDa 10% 

 

  
bf];|f] aif{ 
lanDa  20% 

 

  
bf];|f] aif{ kl5 
lanDa  25% 

 

  
k'gZrM aSof}tf c;'n ubf{ xfnsf] b/df g} lx;fa ul/ 

  
v_ k'/fgf] 3/df tnf yk ubf{ uf=kf=df gSzf k]z gul/ 
lgdf{0f sfo{ z'? u/]df  

Psd'i6 ?=
2500 

 

  
u_ c:yfoL tyf sRrL 3/ lagf Ohfht lgdf{0f u/]df 
hl/jfgf ?= 

Psd'i6 ?=
500 

 

  
3_ gof+ 3/ lgdf{0f ubf{ l:js[t gSzf lakl/t ;fO{8 
dflh{g # lkm6 eGbf sd 5f]8L Emofn, 9f]sf /fv]df  

Psd'i6 ?=
1000 

 

  

ª_ gof+ 3/ lgdf{0f ubf{ l:js[t gSzf lakl/t af6f] tkm{ 
5f8\g'kg]{ ;]6Aofs # lkm6 eGbf sd 5f]8L Emofn, 9f]sf 
/fv]df  

Psd'i6 ?=

2000 

 

  r_ gS;f kf/ ul/ lgdf{0f sfo{ ug{]nfO{ 5000  

  .         Psd'i6 ?= 500  

 @= 5'6 

cg';"rL–(
bkmf !) ;+u ;DalGwt

hl/jfgf tyf 5'6 M

%)

cf=j= @)&%÷)&^
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hl/jfgf tyf 5'6 M– 

laj/0f

!= hl/jfgf    

k'gZrM

  

.  ^ c;f]h

 

   

 

 @= 5'6    

  

s_ k|To]s cf=j=z'? ePkl5 ;f]xL cf=a= sf] >fj0f d;fGt 
leq s/ a'emfPdf nfUg] s/df 5'6    

     
  10% 

 

cf1fn]
v]t axfb'/ vqL

k|d'v k|zf;sLo clws[t

k|dfl0fs/0f ldltM @)&^÷)#÷!) ut] .


